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6. Consider the following nauL'iﬁ]“ Ticéme accounts 1dent1ty

Y=C+I1+G,

where C, I, G and Y stand for consumption, investment,

government expenditure and GDP, qespectively Now suppose that

the consumption functloﬂ 18- ~~G A[: and the investment
hcl

functionis { =c¢—dr JVjL

and interest rate (in percentage) and @, b, ¢ and d are numbers

d r -are respectively the tax

greater than zero. Furthermore, if the equilibrium in the money

M M :
market is described by~ j = [T1 where P is the demand for
-~ I
i

- s

real money balance and -€- a,ﬂéi ofe zlre numbers greater than zero.

A
1

(410 %) R
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(1) Please give an expression of the IS curve algebraiéally (2%)

e MJ
(2) Please expresses the ag\gref,/qte demand curve algebraically (3%)
. (3) How many units wnlljﬁ Fzg\Jg at¢ demand curve shift to the
right if the government expendlture is increased by one unit?

(2%)

(4) Suppose that the interest rate does not influence the quantity of

real money balance demanded. In his case please derive the

ageregate demand curve (3%).....

Rl

7. Suppose the expectation-augmented Phillips Curve of an economy is

“mo=m —3u,+12% ,where 7/, 7, and U, are expected

inflation rate, true inflation rate, and unemployment rate at time t,
] (I
_respectively. (3 7 .z\)w_.wn__-—

(1) Suppose the expected IIilﬂ Jlonrrat and unemployment rate at

t =1 are equal to zero and 2%, 1cspective1y. What's the true

snflation rate &t £, (1%)

(2)If people use adaptive expectation to adjust their expectation

1 o [ ]

i, —fr"’z—(ﬂ: —JIBI ; | -
r+1 t g Ve ¢ W atr‘smthj unemp]oyment rateat =23
A

sy I__! L

if the true inflation rate Eq dﬁn&élle&i‘ such that 7y =7, = 75
(3%)
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(3) What’s the unemployment rate at t =4 if the true inflation rate is

controlled such that 7 f‘rlﬁi =7y (3%)

8. In a Solow-type economy, total nauonal‘ saving in year [, S, ,is
lSI v SI]I Cal hK! ’

where Y, is total output, K, is capital stock, and S is saving rate.

M .
The term —hAK, reflects the ;lea"'ﬁ'at when wealth is higher, saving
is lower. Suppose that the roSu}h rlate f population/work force and
e .‘J ‘

the rate of capital depremation are denoted as M and d ;

respectively, (ﬁ‘- 10 %)

(1) Please find the steady-sta’cé values Of per-worker capital, output,

and consumptlon Pleasg awl)a iagram to facilitate your

explanation. (6%) ™| 1 1

(2) What’s the effect on the steady state of an increase in /A ? Please’

draw a diagram to facilitate your explanation. (4%)

0. Consider the following Keynes mrecmn'omy: (& 13 %)

ik e

Desired consumption T L e 2 0+ 0.6(Y —T)—200r

N
Desired investment 1 3UJO 300r

Tax ‘ T=20+0.2Y
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Government purchases G=152
e 2
Net exports \ f{l\’)t =150-0.08Y —500r
. NG

’ S |
Money demand - J l—‘\L 0.pY —200r

'
i

Money supply M =924

Full-employment output Y =1000

e [ ‘
(1) What are the general equi]ibfi‘ﬂm (that is, long-run) values of

e

o b s gl . .
output, the real interes rafe.,ucof]su ption, Investment, net exports, |
!

e

et

(2) Starting from full employment, government purchases are
increased by 62, to 214. What are the effects of this change on

output, the real interest rate, con\sumption, investment, net exports,
\

' = sessndhl ¢
10.Suppose you divide your life into two periods: working age and

retirement age. When you work, you earn labor income ¥; when
retired, you earn no labor income, but must live off your savings and

the interest it earns. You save the amount S while working, earning
g i pd
interest at rate ', so yowhaye r(‘l'+ES to live on when retired.
ol

sl )
Because you don’t nceﬂ”rf) 66Jps5rﬂe' much when retired, you want

sl
to set consumption wheﬁ%ﬂdﬁg‘ﬁ&ffce as high as consumption

when retired. (& 10 %)
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(1) Suppose you earn $1 million over your working life, and the real

interest rate for retnremﬁmsamng is.50%. How much will you save

and how much will yoﬂ*tonstljn cach part of your life? (4%)

(2) Suppose a social secuméz qute will pay you 25% of your

working income when you are retired. Now (with Y=$1 million, as

in part (1) how much will you save and how much will you

consume each period? (4%)

(3) Suppose the interest rat¢ is (Starting from the situation in part

(1)). Will you save mort}

ptmms

orrless‘?[Pl ase explain your answer with

e

an equation. (2%)
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